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)= o W L — N
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| mRAs 1B b ks RO | g K|
IRH BT Xgam | mEAE | maiE | ERIIAR | GOAE |BEERAE| B @ | & =
31. 2km 28. 4km 22. 6km 13. 6km 6. 4km 3. Okm -0. 5km 8. 7Tkm
=KEKE | C 10. 3 10.0 10. 2 10. 3 9.4 9.8 9.1 8.8
EEKE | °C — — 10. 3 10. 3 9.3 9.9 9.6 —
p H — 7.5 7.5 7.4 7.3 7.4 8. 1 — —
£EDO |ng/l 10. 9 9.9 10.0 9.7 10. 8 9.6 9.7 10. 8
EEDO [nme/l — — 10.0 9.6 10. 7 8.7 9.2 —
COD |m/ 2.2 1.8 — - 2.1 — — —
7 E 1.8 3.0 5 6 4 3 — —
%ﬁ{“f‘;; u'S/cn 119 116 — — — — — —
REBESEE _ _
RS /| 9 7 6 9,540| 10,880 4,480
EBES R _ _ _
B a % | g /| 6 7 5| 14,440 14, 720
wEXR |[m/ 1. 09 1.00 -~ 0. 96 1.08 1.13 — —
w) > |mg/ 0. 06 0. 06 — 0. 07 0. 06 0. 05 — —
sa074 La |ug/ 2.4 2.0 0.7 1.1 2.2 4.3 2.7 4.8
ND: T2 TREEXRS
(6) 7 —k EE{ERR(9R)
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31. 2km 28. 4km 22. 6km 13. 6km 6. 4km 3. Okm -0. 5km 8. 7Tkm
xEKE | C 11.3 10.5 10.3 10. 2 10. 2 10. 2 9.2 9.1
EREKE | °C — — 10. 4 10. 1 9.9 10. 1 10.0f -—

o H - 7.5 7.5 7.4 7.4 7.4 8. 1 — —
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IEBDO |/l — — 10. 1 10. 1 10.5 9.8 9.2 —
COD |me/ 2.3 1.7 - - 2.1 — — -

A E 2.8 2.6 4 4 4 2 — —

%ﬁ{“f‘;; u'S/cn 110 112 — — — — — —
REIENRE _ _
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EEESRE _ _ _
BREAEE ng/ 7 7 6| 14 620 16 400

wER e/ 1.00 0.87| -— 0. 96 1.10 .12 — -

W)y e/ 0. 06 0.05|] — 0.07 0.06 0.05| — —
sOR74 ba |ue/l 2.4 1.9 0.7 1.3 3.2 1.9 2.7 4.7
ND: E=TREXRE
(6) 7 —b eI R(9RF)
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31. 2km 28. 4km 22. 6km 13. 6km 6. 4km 3. Okm -0. 5km 8. 7Tkm
xEKE | °C 12.0 1.2 10.7 10. 4 10.8 10.7 9.9 9.6
EEKE | °C — — 10. 8 10. 3 10. 6 10. 5 10.5 —

o H — 7.4 7.5 7.4 7.4 7.5 8. 1 — —
EBDO |m/l 10. 6 10.5 10. 2 10.3 10.5 10.3 9.4 10.6
EED O |ng/l — — 10. 3 10. 2 10. 4 9.8 9.2 —
COD |me/ 2.5 .71 — - 2.2 — — -

7 3 2.4 2.8 4 4 4 4 — —

%ﬁ{_’%ﬁfE u'S/cn 113 116 — - — — — —
REEARE g/ — - 8 8 6| 7,340| 13,300 4,200
EEESEE _ _ _
BRETEE g/l 6 7 6| 14,680 16,560

wExR |ng/ 1.04 0.93] — 0. 95 1.09 1.10] ~— -

W)y g/l 0. 08 0.06] — 0. 07 0. 06 0.04f — —
sna74 ba | e/l 2.3 1.9 0.7 2.6 4.7 2.7 2.2 50
ND: E=TREXRE
(6) 7 —k EE{ERR(9R)




(4.77)

i B

(SF05FE3H98)

= |9 VA b
( SRRk : IEEEMERN) EER: TP 1.25 m
X = BB (9 |ETHK: T.P. 0.65 m
- 11.2 °C (9 |HB #i: -2.96m (# 80 m3/s) X
o . MERETHY BRETT .,
BERE" - mm ( are) EBII50 2kntth s KEIEHBESAEEST. P. +12. 56m
XEREA 1meRiEl 01 . BRALZWLAT -]
SHAAL RS =TI = N:E
(2) FHRLIRR C gr8) (4) 10 EE(IEILY1A4E) (9FF)
B & 15. 8
. —_— v |EERER|ETRER
i ( BTFFALLE) AR | BRAGE | BAL |50 250m| 5. 4k 250m
i 8 78109 TP 0. 95m
1885404 T.P. 0. 99m @ ng/| 9] 12,000
E5 R
T8 1820 T.P. —1. 14m (1511%%41 thfE me/| 9| 13,000
ViE)
1385109 T.P. -0. 80m @ ng/| 10| 14,000
h" [y WA : e -
(5) IKE R H(9RF) * AEDT—4 3. FHRETHY BRBETT .,
o ERA RS 1E £ Rk BTk B RKEN
RHE BT Xgam | mEAE | maiE | ERIIAR | GOAE |BEERAE| B @ | & =
31. 2km 28. 4km 22. 6km 13. 6km 6. 4km 3. Okm -0. 5km 8. 7Tkm
=KEKE | C 12.8 12.2 1.9 10. 8 11. 1 11. 1 10. 8 10. 3
EEKE | °C — — 12.0 10. 8 10. 6 11.0 11.2 —
p H — 7.4 7.5 7.4 7.4 7.6 8. 1 — —
£EDO |ng/l 10.5 10. 3 10.0 10. 2 10. 9 10. 1 9.2 10. 6
EED O |ng/l — — 10.0 10. 2 10. 4 9.8 9.2 —
COD |ne/l 2.6 1.8 — - 2.4 — — —
7 3 2.6 3.0 4 4 4 3 — —
%ﬁ{“f‘;; U S/cnf 117 120 — — — — - —
REESRE /| — —~ 8 8 6| 7,260 15300 4, 300
EBES R _ _ _
B a % | g /| 7 6 6| 14,700 16, 660
wExR |m/ 1. 01 0. 95 -~ 0. 96 1.10 1.07 - —
w) > |mg/ 0. 07 0. 09 — 0. 07 0. 07 0. 04 — —
sa074 La |ug/ 2.4 2.0 0.5 2.3 9.1 3.2 2.2 5.8
ND: EETREEXE
(6) 7 —k EE{ERR(9R)
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IRH BT Xgam | mEAE | maiE | ERIIAR | GOAE |BEERAE| B @ | & =
31. 2km 28. 4km 22. 6km 13. 6km 6. 4km 3. Okm -0. 5km 8. 7Tkm
xEKE | C 13.6 13.2 13.0 1.6 12.0 1.7 1.6 11.0
EEKE | °C — — 13.0 11.5 10. 4 11.7 11.7 —

o H — 7.5 7.5 7.3 7.4 7.8 g.o| — —
EBDO |m/l 10. 4 10. 2 9.7 10.5 1.2 10. 4 8.8 10. 2
IEBDO |/l — — 9.7 10. 4 9.9 9.6 8.6 —
COD |me/ 0.9 1.9 -— - 2.6 — — -

7 E E 2.4 3.2 5 3 4 3 — —
%ﬁ{“f‘;; u'S/cn 117 120 — — — — — —
REIENRE _ _

REDTER | g/l 8 9 6| 5 260 14 720 4 620
EEESRE _ _ _
BREAEE ng/ 7 6 6| 13,580 15 940
wER e/ 0. 94 0.90| ~— 0.94 1.09 .13 — -
W) g/l 0. 06 0.07] -— 0. 07 0. 07 0.04 — —
sna74 ba | e/l 2.5 2.2 0.4 1.9 15. 1 4.1 2.3 4.8
ND: E=TRIEXRE
(6) 7 —b eI R(9RF)




(6.77)

i B

(HF5FE3A11H)

(3) FKALAK 5 ( 9RF)

( Bt IEEEFREA)

(1) [EIK;
x 2
& 2
BREEX

il

11.9 °C

- mm

( 9B
( 9 F)

( BTE)

XEREA 1meRiEl 01 . BRALZWLAT -]

ELER:
ETR:

B

T.P.

T.P.

-2. 69

1.18 m

0.79 m

( %9

m

XEMBETHY BMHETT,
FBJII50. 2knith 5

120 m3/s) X

KEIETERIZEST P. +12. 56m

(2) FAGIIR5E ( BT H)

(4 1B EEUEIEYAUE) (9FF)

B & 17.8
. . i |EEEmER|ETRER
i ( ETRAKALED) AOE | BANME| Ef 5. 4km+250m| 5. 4krm-250m
i 8 78509 T.P. 0. 99m
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N 18+ 7ok st Rk | 1B K|
IRH BT Xgam | mEAE | maiE | ERIIAR | GOAE |BEERAE| B @ | & =
31. 2km 28. 4km 22. 6km 13. 6km 6. 4km 3. Okm -0. 5km 8. 7Tkm
xEKE | C 13.5 14.1 13.6 12.2 12.0 12.2 1.0 11.3
EEKE | °C — — 13.7 12. 2 11.9 11. 4 11. 1 —

o H — 7.4 7.6 7.4 7.4 7.8 g.o| — —
EBDO |m/l 9.7 10.8 10.0 10.3 1.4 10.3 8.6 10. 2
IEBDO |/l — — 10.0 10.2 1.0 9.6 8.5 —
COD |me/ 2.5 1.8] -— - 2.5 — — -

7 3 2.4 3.0 4 4 5 4 — —

%ﬁ{_’%ﬁfE u'S/cn 106 119 — - — — — —
REIENRE _ _

REDTER | g/l 8 8 6| 4 200 16,860 3 160
EEESRE _ _ _
BREAEE ng/ 7 6 6| 14,580 17, 000

wER e/ 0. 80 0.83] ~— 0. 96 1.08 1. 11 — -

W) g/l 0. 05 0.05|] — 0. 07 0. 07 0.05| — —
sna74 ba | e/l 2.5 2.1 1.0 2.5 20. 2 5.6 2.4 53
ND: E=TRIEXRE
(6) 7 —b eI R(9RF)
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i 8 88%204 T.P. 0. 88m
208304 T.P 0. 83m L@ me/| 9| 8 800
R
F 8 285304 T.P ~0. 96m (1511%%4# @ me/| 9| 14, 000
V&)
1485504 T. P ~0. 98m @ me/| 10| 14, 000
)= o L — N
(5) IKE R H(9RF) * AEDT—4 3. FHRETHY BRBETT .,
N 18+ 7ok st Rk | 1B K|
IRH BT Xgam | mEAE | maiE | ERIIAR | GOAE |BEERAE| B @ | & =
31. 2km 28. 4km 22. 6km 13. 6km 6. 4km 3. Okm -0. 5km 8. 7Tkm
xEKE | C 13.6 13.9 14.2 13.2 12.5 12.5 12.2 12. 1
EEKE | °C — — 14.3 13.0 11.3 12. 4 12. 1 —
o H — 7.4 7.6 7.4 7.4 7.6 g.o| — —
EBDO |m/l 9.8 10. 9 9.4 10.0 10.6 9.7 8.8 10. 1
IEBD O |ng/I — — 9.4 10.0 9.9 9.3 8.6 —
COD |me/ 2.5 1.9 -— - 2.3 — — -
HE E 3.0 4.0 5 3 4 3] — —
%ﬁ{“f‘;; uS/cm 95 104 — — - - - -
REIENRE _ _
REDTER | g/l 7 8 6| 5 160 15 000 3 280
EEESRE _ _ _
BREAEE ng/ 5 7 6| 13,280 15 920
wER e/ 0.79 0.78] -— 0.97 1.08 1. 11 — -
W) g/l 0. 04 0.05|] — 0. 08 0. 07 0.05| — —
sna74 ba | e/l 2.9 2.2 0.9 58 9.5 2.9 1.9 52
ND: E=TREXRE
(6) 7 —b eI R(9RF)




